
www.patonsyarns.com houndstooth hat       1P.O. Box 40, Listowel ON  N4W 3H3

PATONS® CLASSIC WOOL WORSTED™
Houndstooth Hat (TO CROCHET)

SIZE
One size to fit average woman’s head. 

MATERIALS
Patons® Classic Wool Worsted™ (100 g/3.5 oz ; 192 m/210 yds)

Version A
Main Color (MC) Royal Purple (00212)	 1	 ball
Contrast A Lemongrass (77223)	 1	 ball
Contrast B Yellow (77615)	 1	 ball
Contrast C Pumpkin (77605)	 1	 ball
Contrast D Cherry (77710)	 1	 ball

Version B
Contrast A Aran (00202)	 1	 ball
Contrast B Black (00226)	 1	 ball

Sizes 5 mm (U.S. H or 8) and 5.5 mm (U.S. I or 9) crochet hooks 
or size needed to obtain tension. 

Tension 
13 sc and 16 rows = 4" [10 cm] with larger hook. 

stitch glossary
www.patonsyarns.com/abbreviations

Approx = Approximately
Beg = Beginning
Ch(s) = Chain(s) 
Cont = Continue(ity) 
Dcfp = Yoh and draw up a 
loop around post of next st  
at front of work inserting 
hook from right to left. (Yoh 
and draw through 2 loops on 
hook) twice
Hdc = Half double crochet
Pat = Pattern

Rnd(s) = Round(s) 
Rem = Remaining
Rep = Repeat 
Sc = Single crochet 
Sc2tog = Draw up a loop in 
each of next 2 stitches. Yoh 
and draw through all loops 
on hook 
Sl st = Slip stitch 
St(s) = Stitch(es)
Yoh = Yarn over hook

™

Version A

Version B
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INSTRUCTIONS

HAT
Notes: 
•   To join new color, work to last 2 loops on hook. Draw new color 
through last 2 loops then proceed with new color.
•   Carry colour when not in use loosely across top of previous 
rnd and work sts around it to prevent stranding.

Version A
With MC and smaller hook, ch 66. Join with sl st to first ch to 
form a ring, taking care not to twist chain.
1st rnd: Ch 2 (does not count as hdc). 1 hdc in each ch around. 
Join with sl st to first hdc. 66 hdc. 
2nd rnd: Ch 2. *1 hdc in next hdc. Dcfp around next st. 1 hdc in 
next hdc. Rep from * around. Join with sl st to first hdc.
Rep last rnd twice more. 
Next rnd: Ch 2. *(1 hdc in next hdc. Dcfp around next st. 1 hdc in 
next hdc) 10 times. 2 hdc in next hdc. Dcfp around next st. 1 hdc 
in next hdc. Rep from * once more. Join with sl st to first hdc. 68 sts.

Change to larger hook and proceed in pat as follows:
1st rnd: With MC, ch 1. 1 sc in each st around. Join with sl st to 
first sc. 
2nd rnd: *With MC, ch 1. 1 sc in first sc. With A, 1 long sc in next st
1 row below. Miss next sc (behind long sc just worked). 1 sc in 
each of next 2 sc. Rep from * around. Join with sl st to first sc. 
3rd rnd: With A, ch 1. 1 sc in in each st around. Join with sl st to 
first sc. 
4th rnd: *With MC, ch 1. 1 sc in each of first 2 sc. With A, 1 sc in 
next sc. With MC, 1 long sc in next sc 1 row below. Miss next sc 
(behind long sc just worked). 1 sc in each of next 2 sts. Rep from 
* around. Join with sl st to first sc. 
Rep last 4 rnds, substituting B for A. 
Rep last 4 rnds, substituting C for A. 
Rep last 4 rnds, substituting D for A. 
Rep last 4 rnds, substituting C for A. 
Rep last 4 rnds, substituting B for A. 
Rep last 4 rnds. 

**Shape top: 1st rnd: Ch 1. (With B, sc2tog. 1 sc in each of next 
13 sc. Sc2tog) 4 times. 60 sts. Join with sl st to first sc.
2nd rnd: Ch 1. *With B, ch 1.  Sc2tog. (With B, 1 sc in next sc. With MC, 
1 long sc in next sc 1 row below. Miss next sc (behind long sc just 
worked). 1 sc in each of next 2 sc) twice. With B, 1 sc in next sc. 
With MC, 1 long sc in next sc 1 row below. Miss next sc (behind 
long sc just worked). 1 sc in next sc. Sc2tog. Rep from * 3 times 
more. 52 sts. Join with sl st to first sc.

3rd rnd: Ch 1. (With MC, sc2tog. 1 sc in each of next 9 sts. Sc2tog) 
4 times. 44 sts. Join with sl st to first sc.
4th rnd: Ch 1. *With B, sc2tog. With MC, 1 sc in next sc. With B, 
1 long sc 1 row below. Miss next sc (behind long sc just worked). 
1 sc in each of next 2 sc. With MC, 1 sc in next sc. With B, 1 long sc 
1 row below. Miss next sc (behind long sc just worked). 1 sc in 
next sc. With B, draw up a loop in next sc 1 row below. Miss next sc. 
Draw up a loop in next sc. Yoh and draw through all loops on hook 
– st2tog made. Rep from * 3 times more. 36 sts. Join with sl st to 
first sc.
5th rnd: Ch 1. (With C, sc2tog. 1 sc in each of next 5 sts. Sc2tog) 
4 times. 28 sts. Join with sl st to first sc.
6th rnd: Ch 1. (With C, sc2tog. 1 sc in each of next 3 sts. Sc2tog) 
4 times. 20 sts. Join with sl st to first sc.
7th rnd: Ch 1. (With C, sc2tog. 1 sc in next sc. Sc2tog) 4 times. 12 sts. 
Join with sl st to first sc.
8th rnd: Ch 1. With C, (sc2tog) 6 times. 6 sts. Join with sl st to 
first sc.**

Version B
With B and smaller hook, ch 68. Join with sl st to first chain to 
form a ring, taking care not to twist chain.
1st rnd: Ch 2 (does not count as hdc). 1 hdc in each ch around. 
Join with sl st to first hdc. 68 hdc.
2nd rnd: Ch 2. *1 hdc in next hdc. Dcfp around next st. 1 hdc in 
next hdc. Rep from * around. 

Change to larger hook and proceed in pat as follows:
1st rnd: With B, 1 sc in each st around. Join with sl st to first sc. 
2nd rnd: *With B, 1 sc in first sc. With A, 1 long sc in next st 1 row 
below. Miss next sc (behind long sc just worked). 1 sc in each of 
next 2 sc. Rep from * around. Join with sl st to first sc. 
3rd rnd: With A, 1 sc in in each st around. Join with sl st to first sc. 
4th rnd: *With B, 1 sc in each of next 2 sc. With A, 1 sc in next sc. 
With B, 1 long sc in next sc 1 row below. Miss next sc (behind 
long sc just worked). Rep from * around. Join with sl st to first sc. 
Rep last 4 rnds of pat until work from beg measures approx 5" 
[12.5 cm], ending on a 4th row of pat.

Shape top: Cont changing colors as before, work from ** to ** 
as given for Version A. 

™


